B IS KPR SR S wr I 07 4

FNT4E6 H 30 H HLLE
H
gE OKET K 5, 0001 S W O E R 3, 000
BB OB 1 B (BFEIEAR) B O Ok 50, 000
m A E R 20, 000H faf A KL kR 10, 0004
L2l S S VR = 3, 0004 g B’ E kR 50, 0009
oA B OHE B (&FEIEAR) W K E Ok 10, 000
% B Rk 18, 0004 B OAK 5, 0004
frfE E£E 1 kR 3, 0001 7o BB Rk 5, 000
Bl 2 b Bk (BKEIEARR) O BB kK (BKEIEAR)
flf — K Bk (@FEIEAR) 1] S = e e 3, 0001
1 I O 5 Y = 10, 000 15 I O S A S = 5, 0004
far 55t — kR 3, 000 o S B AR 30, 000
7O = Kk 5, 000 7w B B (BFEIEAR)
7o =R (SFEIEAR)
Ly
iR & K£FH K 100, 000 I /NS £ B 10, 000
AR EM R 3, 000 W A F R 3, 000
£ [l B OkE 20, 000 Ao N R 3, 0004
[ X F K 5, 000 A H O F B B (SFIEAR)
o8 B/ 3, 000/ L B M R 15, 000
ol YR B (BEIEAR) moi &K R 10, 000
m R Bz B (BFEIEAR) gtk B R AR (BBEIEAR)
Jrig ZFEWES kR 3, 0004 gt B E O (BFEIEAR)
Ot Bk A #& AR 5, 0004 gtk M B AR (BEEIEAR)
Ot Bk R 5, 000 CTTZI N - 7 Y = 10, 0004
H E AR 20, 0009 B E AT KR 5,000/
P = I U i R = 125, 000 IR 'O 6, 000"
AR KET EE 5,000/ I HBET R 10, 000
= AR FH 9L kR 5, 000
P
By I 10, 000 AV S T 10, 000
K5 R A (sEIENR) W H A 2 K (&FEIEARR)
W B R 5, 0004 F8OH KO (SREIEAR
A
LI Zh B8 AR (BKEFEAR) 1 OB (&FIEAR)
w7 R 10, 000/ = O Fn RS A% 10, 000
ST S G 3, 000 m O B R 3, 000
m O IE KB OB 15, 000



»

B IS KPR SR S wr I 07 4

FNT4E6 H 30 H HLLE
o)
X IE 8L kg 20, 000 KB OE KR 3, 0001
KB K E OB (BFEIEAR) KB OIE B Ok 6, 0004
KA O R 3, 000/ XM OB Ok 3, 000
K& 5L # K 10, 0004 KB £ kR 5, 0004
Kl B & OB 12, 000 AN e B (BFEIEARR)
Ko KKk (SKEIEARR) Wl A ZFE A OER 3, 000
NI — B 3, 000/ N R EOER 10, 0004
N OF R R 3, 000 R E A R 100, 0004
ANES| B kR 3, 000 AN S 3, 0001
NS T ER 5, 000 INEE R 10, 000
INEPRT = — B 10, 000 TR S - 3, 0009
»n
{af it Bk 5, 0001 HWOR KM R 30, 0001
1 1 Y 1 kR 5, 000 O R B 10, 0004
HH OE M B (SFEIEAR) B B kR 10, 000
B B i Bk 3, 000 g I RS AR (BFEIEAER)
mogE T RO 10, 000 T g R R 10, 000
noE RN AR (BEEIEAR)  n Rk S = 3, 0004
moEE B E& OBk (BFEIEAR) & H A R 10, 0004
A A i I 5, 000 o B R 10, 0004
& 1 BB O 3, 000/ ol I Y = 30, 0001
S SO T/ 3, 000 B E 7 R 3, 000
o~ R 10, 000 ZC I =S NG 20, 000
B £/ R 5, 000 JL - B A = 10, 0004
JI A 2 kR (BFFEAR) JIL A Fn A kR 20, 000
BXE R Bk (&FIEAR) oy Bk — AR 10,5114
'O E 100, 000/ OB O/# T B (&FEIEAR)
v B ZF & B 1,000,000 SEa SO S AR 10, 000
=
%M e Bk 5, 0001 A b R 2,000/
LI I 10, 0004 % o AR AR 3, 000
g5 WM F R 20, 000 bk Fn Z B (SFEIEAB)
RO I S I - 20, 000 4 W5 Bk (BEEIENRE)
AR B kR 15, 0004 A K B E R 10, 000
i B kR 3, 000
<
OB B kR 10, 0001 F Rk R 3, 000
oy J)l B E R 30, 000 PR H SCBL B 3, 000
B A A B (BBEIEAR) B A K — B (SBEIEAR)
e 2 #E kR 5, 000 R VAR = - 5, 000
B R W Z K (BFIEARH) BR & F kK 20, 000
B B 5, 000



B IS KPR SR S wr I 07 4

AFNT4E6 H 30 H HLE
G SN TR = 5, 000 G SRR/ S = 5, 000
OB RO R (BFIEAR) AN Bl kk 3, 000
G S i = 70, 0004 INOE T A R 10, 000
% Ok — BB AR 10, 0004 % Bk Fo H) R 3, 000
% B T kR 10, 000/ AN E R B (BBEIEAR)
ANl Fo &R 5,000 v R IE S BR 20, 0004
UT w7 kR 5, 0004 A B B K B (BBEIEAR)
EATILS SO - 3, 000 AR mEAR R 5, 000
& B F OB R 10, 000
S
O % — kR 10, 000H w R OF 2 Bk 3, 000
=R OBE R AR (BEEIEABER) wm R B R BE (SFIEAR)
i R 5, 000 WO TR R 9, 000[
=R Oth oW OER 105, 3111 G " kR 5, 000
- S R 6, 000 BB B AN FR 3, 0004
£ H BoOkk 9, 000 I AT KR 5, 000
T FH EE 3, 000 i /NN NI - - 3, 000/
er R W HL KR 5, 000 exe K F55L K% 3, 000
e ko AR 3, 0004 1 i FnosL kR 10, 000
e kOB B Rk (BEFEAR) e B 5L — Bk (SFEIEARR)
1 E o KR (SKEIEARR) 1 m = kR 3, 000F4
e B @ O K 3, 0004 o I 10, 000
e Bk R 0 AR 3, 0004 e Bk FH OB AR 10, 000
e R ROk 3, 00014 e B PR Ok KR 50, 0001
e Bk 5 Bk (BFEIEAR) e B F 5L Kk 30, 0004
HOH O O kR 100, 00014 e B FE IR Bk (GFEIEAR)
U
bR T T NI 5, 000 N R SR 10, 000
W 9L R OER 20, 000H e R R 3, 000
REPE R 7+ K 5,000 & w | R AR 3, 000/
< = N S I = 20, 000H B oK db ke kR 10, 0004
H K fBE B (BEEIEARH) B oK BEE B (BBEIEAR)
APRSE B — B (BFIEAR) =l i R 3, 000
H B E— B 3, 000 H A 3 Bk (B%EIEAR)
H DGR 100, 000 oo B g B (SFIEAR)
o T OE AR (BEEIEAR) TR S S I - 154, 370
+
¥ W AR 5, 000 &K B —  ER 3, 000
2B/ N RSN 3, 000/ ® oA | A 3, 000/
eI NI (O =3 5, 000 oI NI R S = 50, 000
o K (R M B (BFIERR) oo~ B OB R (BFIEAR)
;K BE T K (SFEIEAR) ARORH W B (&FEIEARR)
&

H e OEE O 3,000H WA R K K (BREIERR)



B IS KPR SR S wr I 07 4

FNT4E6 H 30 H HLLE
N & 135, 0004 BTN R 5, 000
HoR BB Bk 6, 000 oA th — R 10, 000/
- 3, 000 mOHE o — kR 10, 000
HOE K B OER 50, 0009 S I N 5, 0004
=B T Rk 10, 000 o TE M Bk (BFEIEAR)
S I U AV =S € (P 1/ ) s AT R 20, 000
P T - 3, 000 O R B (BFEIEAR)
ol #EE OB (BKEIEAR) H oIl — & (&FEIEAR)
S5 S S R = 5, 000 TEVNSE IS T B = 3, 000
Z 6 Wk 3, 000 I B Rk B (&FEEAR)
Mo B Rk 20, 000 H R AN Bk (BFIEAR)
Mo 5= M kR 5, 0004 N e | OER 30, 0009
M 2 WoORE 10, 0004 S S 7S R = 30, 000
FERSZ I R R = 5, 0001 FHE B R 5, 0001
PN (-3km) B £ 100, 0004
T E W7 kR 100, 0001 T# &b 20, 000
) W= v R - 3, 000
B B O X R 20, 0001 & = kR 10, 000
B OB KR (FEIEAR)
F B fnoBh kR 5, 000 BwE »ED AR 10, 000
i B - 20, 000 ;T NI/ - 5, 000
WOWE fh — Kk 100, 0004 B OH s—E R 3, 0004
= M BroAE 20, 0004
o B R 204, 49214 oI R R 20, 000
oIl oL Bk (BFEIEAR) X B E Rk 20, 711H4
Vi T I 7 S = 3, 000/ B ORATT g 100, 000
7K H B e OEE 15, 0004 EWH FE K 3, 000
EB BB K 20, 0009 £ PG = 3, 000/
ks H = £ 20, 000H ok R B 10, 0004
o B kR 20, 000/ A HEEE BR (BFBEAR)
[ S - 20, 000



13

B IS KPR SR S wr I 07 4

AFNTH6 H 30 H BLLE
I
TR OB T OER 10, 000 o e — Bk (SFEIEARR)
N B (BBEIENBE) vE e NE 32 R 6, 000/
VA (EA) R A% 3, 000 Bomo U BES BE (S%EIEARR)
BOH O E B (BFEIEAR) A7 B & £ 10, 0004
2]
W HE K6 R 5, 00019
h
AR B OBOER 22, 522
(1))
L IE ke 5, 000 Hl g F & & 10, 000
I3
i = S O A 100, 0004 AR Hpx kR 3, 0004
o | fiak kR 3, 00014 oW it B (BFEIEAR)
B E AN EE 3, 00014 EE R B (BKEIEAR)
N LR 10, 0004 JFOH 3 £ KR (BFEIERABR)
E oL — fOER 6, 0004 *EOfE oot kR 5, 000
o R/ EOK (BEIEAR) B — i kR 10, 0004
o
H R e kE 20, 000 JE M EOEE (&FEIEAR)
5 I Y - - 22, 000
A
& W 7 R (BKEIERARR) B R 48 &R (BKEIERABRR)
RO RO 10, 0004 R = 10, 000/
N~ AT - - 70, 0004 oo E R 3, 0004
A
=Owom A kR 70, 0001
IF
52 % A = 10, 000H] A H o g Hl kR 5, 000
A [ R Bk (&%EIEARR)
3
i Il IR AR (SKEFEARH) W O ® R (SFEIEAR)
/N /= Y 3, 000 A OuE e ot AR 10,0001
V/NIVN = kR 3, 000/ /N N SN S - 3, 000
oA Bz R 3, 000 A %k (BFEIEAR)
il B (SFEIEAR)



[\

B IS KPR SR S wr I 07 4

FNT4E6 H 30 H HLLE
S
= WE 100, 0001 = M AR 3, 000/
= W NE HE EE 3, 00014 =k ZET K (BFEIEAR)
= K R = 5,000/ L 7 TR S = - 7, 1131
KB B kR 5, 000 2 B O Z & 20, 000H
OR OR/ MO 3, 000 bV ST R S = 100, 0001
%l B AR (BEPEAR) HON F AT B (BFIEAR)
§3)
" OO TR 10, 0004 & H K E AR (BFEIEABR)
SFROWm kR 10, 000 AR T B (BFEIEAR)
)
NI & B (&FEIEAB) BN R 3, 000
xR EORE 12, 000 N B HOEE 3, 000
IUR = RN S 30, 0004 gy % — kR 3, 0004
ey wokE (BFEIEARR) W FOE o B (SFEIEAR)
I\ B F M OB (BEEIEAR) W B R BR 50, 0004
)
FT 2 VA = 5, 000
&
B HE = OBE 5, 0004 /=T - 3, 000
AL N = 20, 000H = H B AR 10, 0004
OO R B (BFEIEAR) = B OB E R 10, 0004
H IR R/ B R 10, 00014
9]
M kR 20, 000
b
O o Bk 1,300,000 iR VA N e SR = 3, 000
2 VA == W= 3, 000 B F B Bk (SFEIEAR)
BB 5L Rl BE (BEEIEARH)



RS R PR SR I A 074

AFNTHE6 A 30 A BLEE
SR EOITRERFME B
L TRt B 100, 000
SRR AR 100, 00019
KRR R TRt Bk 100, 00019
BRAWE WS ZeERRES K 200, 0004
AL O R AR
WA R AT 7 7 VI —F
Rttty 777 MU — R 30, 0009
MRS HOERT AR
BHASH T ARLAREE B 100, 000
R thim S IR i Bk
HASHESRERERE L ¥ — £
NERMHETEN  RAERNES  fR 2, 500, 000
NESFEREN S LERED OF S Vot £
HEORL kR 10, 0004

VA BT 7 UK RAEIE kR

S EILG R R S E A 2R RAE R

EFERZEDFRRAES S8 HRA %

WL 6 RERFEME R

W =KE Kk

REEBR AL R

N = T BRASHE kR




RS R PR SR I A 074

AFNTHE6 A 30 A BLEE
BEREARERFRMESESS %
R B E G RS AR 1, 000, 0004
s < bRERRMA B
REBRFHWMEALE R 165, 6211
R AT DT - IHERRIR S S 0exs K 1, 000, 0004
S RFATBEOR PR R SRS AR 2, 300, 000
BB RERRERETH FRRERS % 2, 350, 0001
R NFFE UL AR ERES R 2, 350, 0001
REBREEAGES K 7,200/
S LERKRBERFME B
ARt A= A RENPE £
AIRSAHMAZE £ 100, 000

BHIe HEEBRME R




